www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

Play level
mark

Assign a device location considering the space requirements (impact area).
Slide direction recommended: north-east or in half-shade of trees.

. Excavate soil for foundations, according to drawing.

Please note: To achieve maximum stability and a safe installation, a
moderate level of soil solubility is required.

. Pour in a drain layer of gravel of approx. 10 cm thickness between the

bottom of the posts and plain base of foundation.

. Insert reinforcing steel into the corresponding holes of the posts.
. Place posts type A according to the corresponding number (see foundation

layout) into the respective foundation hole. Play level mark (=aluminium
blind rivet) complies with the installation depth. Align every post by means
of the play level mark facing inte the same direction (see detail or
foundation layout).

. For installation of the pre-assembled components and/or single

parts, the screws slightly have to be lubricated with installation
paste!

Screw together platform and posts by using the middle hole in the
mounfing brackets.

Tighten all screws after having aligned all components.

Install the slide exit with an inclination of 5° in sliding direction.
Screw connections see details in attached list.

. Grout foundations with compressed concrete C20/25, chamfer and round

off the edges, cover the foundations with a surface which meefs the
requirements for impact attenuation so that the critical fall height of the
surfacing is equal fo, or greafer than, the free height of fall of the
equipment (acc. to EN 1176-1). The run-out section fall zone must have
surfacing with a critical fall height of at least 1000mm (acc. to EN 1176-3).

. Release for play after concrefe foundations have sef.
. According to maintenance instructions, check all screw connections after

4-5 weeks and retighten, if necessary.

Please ensure that all special tools supplied (e.g. Allen key for secured
Allen screws etc.) and all specific documents which are or may be useful
for safety management acc. to EN 1176-7 (e.qg. invoice, delivery note, order
acknowledgement, installation instructions, maintenance instructions) are
forwarded to the persons responsible.

platform orientation
1:100

detail of play level mark
1:5

play level mark

platform fastening
1:10

mounting

with platform (0,20)

bracket top
middle
o pos bottom
Necessarily insert all attachment parts before
tightening the screws. It is NOT possible to insert
them afterwards.
. Item-No. Description Scale Date Page
Installation 0-41824-501 K&K Hill slide (2,40) 1:50 06/16EB  1/3




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kihne Freizeitgerate D-27324 Eystrup

K & K Installation

[| 0,30 *

0,20

approx. 1,15

Note: Due to the slide construction, the course of the hill must be
shaped such that the fall height will not exceed 2m.

*max. free height of fall at slide entrance. Depending on the site profile,
the free fall height (hx) and the size of the impact area result from
the vertical distance between the bottom of the chute and ground

level.

The surfacing material for the impact area within the sliding section
must meet the requirements given in table 4 (see EN 1176-1). The

shock-absorbing characteristics of any other material to be chosen
must be certified in accordance with EN 1177.

The run-out section fall zone must have surfacing with a critical fall
height of at least 1000mm (acc. to EN 1176-3).

T

J

Exemplary course of the hill

Please consider planning specification
and/or the instructions of architect on site.

2,40

Cut slide support acc. to requirements or dig |play level
deeper acc. to course of the hill. |J
type B
1:20
type A ®0,12
1:20 \
= -
_|play level play level slide support ‘ “|play level
‘ mark
A % 8 8
S| m (=) o
3= 1|
50 ER
g Zill O B
P ‘ o < ‘ 3
reinforcing steel”| - o 5 i
TSRS, RRh L
concrete o ‘ .
00,40 gravel . s |
W o3 .
base
79040 concretfe
ravel
type C ]
1:20
_|play level
5 B ]
(=} : E 9
\1‘_ T4
(=)
0,90x0,75
concretfe
. Item-No. Description Scale Date Page
Installation 0-41824-501 K&K Hill slide (2,40) 1:50 06/16EB  2/3

with platform (0,20)




, 09’6 ‘xoddde !
— - —_—
\\ /
D -
6S'y 'xo.dde
’ 1 - 1 !
88’ 080 ! 95l
yJew
700 €00
| aA3] Aeid s -
i W 13A3] Ag) I v /V
m, 00°z Ul = u\\ - — \\A,Um“ — - — | — | PEla m
w m , CUVUAN —\ fa 1 v
5 S [Tv v
o Q
o AN-:/, x
S 1394s bBuizdojuiad
- 2
1 —_ < —
‘W (G’ 40 Jybiay .100-550LLZL,, D3
11eJ wnwixew e jo 3jdwexy )iy 3yY4 Jo 9s4nod uolydidsul jsod
//
3y} uo spuadap eaJe joedw| sy} Jo 9zIs ay| _ v
oG 30 Uoljeundul
UB U4IM pa]|BJSUI 3Q JSNW UDIJI3S NO-UNJ 3PNS Iy 3Y] e
* palypads uoijeunaul ay4 wody aseq ui-bnid
uol}eIA3p B jnoy4im pauoljisod AjJadoud sue suoi}Ias
p3AJnd 3y} 4y} 'apis 3y siloddns K13A143)43 ,
41 4eY} Ydns payieysul aq o4 sey 4loddns apns NIy ay| e | ysod 1334s
01235 Jno-unJ 3pys 1IY 3y} o4 Aydde Jou — SSI)UIRYS BYJ OJUI MO)3Q WOJ) 3SBQ JJISU|
s90p siy| ‘(ybnody apns ayy Jo auyusd Yy Ul padnsesu) .T_.wu_.__._m 316ue 63 aouei|dde 3,enbape
UOIJBUIIUI $33.4J0) BY4 Y4IM p3)1B4SUI 3 +m_:E Aquasse 4iIM) UBU3] paunbau ayy o4 yloddns
3PS 3Y4 JO (SUOIYIDS PIARM JO P3ALND 'Jybledys) ||y e 3DI]S 19945 SSBIUI S UBJJ0US ‘AIeSS3IaU J|

‘Al1e4uoziioy
pa]|e4sul aq 4snw 34nyd 3y} jo uoiydas buiyieys ay| e
"(abueyy s3ue.jus apis ay4 4o 3bpa
wo4joq pue 12A3] Ae)d USIM |3 3IURYSIP) PIAIISGO 3G
$snw xy=apis ay4 4o jybiay uoijeyjeysul payyiads ay| e
SPNS NH W3)
70 UOIJe||BSUl 54} JOJ SUOIJONJ{SUl JeUOI}IppE swos

jJoddns apns — |

=

:SM0))0J SE pajunow ag o}
0zl
Joddns apijs 1o} aseq ul-bnid

approx. 3,95

0G1€6 - ¥G2r(0)6v+ 1oL W00 Ae|d-suyany-iasiey mmm

dnusA3 vzele-a eresebueziaig suyny g Jesiey (O

uone|eisul 3 g M

Q
R
m
L
©
0 =
w ©
8
o
3 D
g
N
=)
4’
S
()
el
»
c =
=
=3
(6]
2 o3
axX
—
o
L
<
. Qd
o 00
Z
£y
= O
-
O
e
©
©
d
()]
C

with platform (0,20)



o List of screw connections

Kaiser & Kiihne Freizeitgerite Page 1 [ 2

ltem: 041824501 Order: 1293252
K&K Hill slide (2,40) with starting platform 0,20

Location: Building Project:

4 x SFES1200001 Platform fastening to stainless steel post,
nut on the side of the platform

per SC | Tota | K&K-ltem Marking

1x 4x 3430021 Lock nut M12 DIN985 A2

1x 4x 2030651 Cheese head screw with pin M12 x 125

4 x SFES1210001 Standard bolting of attachment parts
(except platforms) to stainless steel posts

per SC | Tota | K&K-ltem Marking

1x 4x 2030168 Cheese head screw with pin M12x140

4 x SFES1270001 Reinforcing steel for stainless steel posts

per SC | Total | K&K-ltem Marking

2X 8 x 2130000 Reinforcing steel @ 10 x 310 DIN 488

1 x SFAS1070007 Slide run-out section (mini) stone bolt assembly

per SC | Tota | K&K-Item Marking

2x 2x 1070365 Set of stone bolts for slide run-out section
M12x160

Im Stidloh 5 27324 Eystrup www.kaiser-kuehne-play.com @ +49 4254 9315-0 +49 4254 9315-24




Kaiser & Kiihne Freizeitgerite

List of screw connections
Page 2 | 2
ltem: 041824501 Order: 1293252
K&K Hill slide (2,40) with starting platform 0,20
Location: Building Project:
1 x SFWzZ0000009 Hexagon insert socket driver 10mm 1/2"
with borehole for Pin

per SC | Tota | K&K-ltem Marking

1x 1x 2030170

Hexagon insert socket driver 10 mm 1/2"
with drill hole for Pin

1 x SFWz0000014 Lubricating metal, bag (49)

per SC | Tota

K&K-ltem Marking

5300024

Metaflux fitting lubricant 2x4 g

METALLIQUE
.180° & +1.400°C

Art.-Nr. 70-8508

Im Stidloh 5 27324 Eystrup

www.kaiser-kuehne-play.com

@ +49 4254 9315-0 +49 4254 9315-24



